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[N.B. 1. Answer all questions in PART A. Each question carries one
mark.
2. Answer any ten questions in PART B. Each question carries
two marks.
3. Answer all question by selecting either A or B. Each question
carries fifteen marks. (7+8)]

PART - A
1. Write down the electrolyte used for chrome plating.
2.  What is Paint?
3.  What is water gas?
4. List the salts that cause temporary hardness in a water samplé.
5. What is sewage?
PART - B
6. Define Faraday’s Il law of electrolysis.
7.  Write down the representation for Daniel cell.

8. Define electroplating.

8. Define corrosion.

10. What is sacrificial anode method of prevention of corrosion?
11: What are fire retardant paints?

12. What are fuels?

13. Write down the equation for the calculation of finding theoretical
quantity of oxygen required for the combustion of 1 kg of a fuel
containing carbon, hydrogen, sulphur and moisture?

14.  Prove 1mg/litre is equal to 1ppm.

15. What is caustic embrittlement?‘
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16. What are the main reasons for priming and how is it controlled?

17. Mention the advantages of ion-Exchange method.
18. Write a note on greenhouse effect.
19. Define global warming.

20. Write a note on landfill method.

PART - C

21. (a) (i) Explain the process of electrolysis with suitable example

and diagram.
(ii) Describe the construction and working of Li-ion battery.

(Or)

(b) (i) Explain the construction and working principle of Lead acid

storage battery.
(ii) During electrolysis of silver nitrate, 4.029g of silver was

found to get deposited over the cathode. How much time is
required to get the deposition when 1 ampere current is
passed? (Equivalent weight of silver is 108).

22. (a) (i) Explain the rusting of iron and the formation of galvanic
cell.
(ii) Explain the components of paint and their function.

(Or)

(b) (i) Explain the preparation of oil varnish and spirit varnish.
(ii) Explain the factors influencing the rate of corrosion.

23. (a) (i) Write notes of refining of petroleum.
(i) Explain flue gas analysis using Orsat apparatus with a neat

diagram.
(Or)
(b) (i) Volumetric analysis of producer gas supplied to an engine Is
H, = 20%, CH, = 3%, CO = 22%, CO; = 8% and
N, = 47%. Estimate the volume of air required for

combustion of 1 m? of gas.
(ii)Give the differences between solid and Lliquid

propellants.
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() Explain rainwater harvesting method and also mention its
advantages.

(ii) Explain how hardwater is converted into soft water through
ion-exchange method with diagram.

(Or)

(i) Explain the problems caused by hard water in boilers.
(i) Write a note on drinking water standard.

(i) What are the harmful effects of acid rain?
(i) What is the cause of depletion of ozone layer? Méntion their
harmful effects.

(Or)

(i) Explain eutrophication with its harmful effect.
(i) Explain the advantages of recycling.
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